
Grade 7 General

EOT2 Coverage 2023-2024



Part 1
Multiple Choice Questions

(15 questions, 4 marks each, Paper-Based)



= (5𝒙 - 3) - (2𝒙 - 7)

= (5𝒙 - 3) + - (2𝒙 - 7)

= (5𝒙 - 3) + (-2𝒙 + 7)

= (5𝒙 + -2𝒙) + (-3 + 7)

= (5 + -2)𝒙 + (-3 + 7)

= 3𝒙 + 4



 ?

= (12h + 7) - (7h - 4)

= (12h + 7) + - (7h - 4)

= (12h + 7) + (-7h + 4)

= (12h + -7h) + (7 + 4)

= (12 + -7)h + (7 + 4)

= 5 h + 11

= 5 (6) + 11

= 30 + 11

= 41

41 × $1.50 = $61.50

In 6 hours, they sold 41 more Asiago bagels.

They made $61.50 more in Asiago bagel sales.



 ?

= (8w + 9) - (6w - 1)

= (8w + 9) + - (6w - 1)

= (8w + 9) + (-6w + 1)

= (8w + -6w) + (9 + 1)

= (8 + -6)w + (9 + 1)

= 2 w + 10

= 2 (12) + 10

= 24 + 10

= 34

34 × $11 = $374

In 12 weeks, he sold 34 more buttered popcorn.

He made $11 × 34 = $374 more in buttered popcorn.



𝟔(𝒙 + 𝟑. 𝟓)

𝟔
=

𝟓𝟕

𝟔

X + 3.5 = 9.5

− 3.5  − 3.5

X = 6

−𝟐(𝒙 − 𝟓)

−𝟐
=

𝟏𝟐

−𝟐

X −  5 = − 6

+ 5      +5

X = 1



X = 6

2.5x + 10 + x = 38

3.5x + 10 = 38

          - 10      -10

3.5 x = 28
𝟑.𝟓 𝒙

𝟑.𝟓
 = 

𝟐𝟖

𝟑.𝟓
 = 8

6.1x – 12.2 + x = 51.7

7.1x – 12.2 = 51.7

          +12          +12

7.1 x = 63.9
𝟕.𝟏𝒙

𝟕.𝟏
 = 

𝟔𝟑.𝟗

𝟕.𝟏
 = 9



X + 26.50 ≤ 40

X ≤ 13.50 $

The most Gabe can spend on souvenirs and snacks 

is 13.50$

X + 18.5 ≥ 45

X ≥ 26.5 min

Drew has to practice at least 26.5 more minutes today

-50 + X  < -35

X  < 15
The depth ascended more than 15 feet

-5.50 + X  >  20

X  > 25.50
Elena earned less than 25.50$ mowing the loan



X – 8 
𝟑

𝟒
 ≥ 6 + 8 

𝟑

𝟒

X ≥ 14 
𝟑

𝟒

The weight of the maine coon is at least 14 
𝟑

𝟒
 pounds 

X – 12,755.25 < 4500

X  < 17,255.25
The number of miles on the sedan is more than 

17,255.25



5x + 95 = 180

       -95     -95

5x = 85

X = 17

3y + 120 = 180

       -120     -120

3y = 60

X = 20



(6x + 4) + (4x + 26) + 110 = 180

10x + 140 = 180 

         -140    -140 

10x = 40 

X = 4

Measure of angle A 

4x + 26 

4x4 +26

16 + 26 

A= 42

(3x + 15) + (x + 10) + 103 = 180

4x + 128 = 180 

       -128    -128 

4x = 52 

X = 13

Measure of the angle of the intersection 

between Derby Drive and Rosemont 

(X + 10 ) 

13 + 10

= 23



= 3 (𝒙) + 3 (4) + 5 𝒙
= 3 𝒙 + 12 + 5 𝒙
= 3 𝒙 + 5 𝒙 + 12 

= 8 𝒙 + 12

= 4 (2𝒙 + 3)

= -4 (𝒙) + -4 (1) + 6 𝒙
= -4 𝒙 + -4 + 6 𝒙
= -4 𝒙 + 6 𝒙 + -4 

= 2 𝒙 – 4

= 2 (𝒙 – 2)

= -5 (2𝒙) + -5 (-6) + 25 𝒙
= -10 𝒙 + 30 + 25 𝒙
= -10 𝒙 + 25 𝒙 + 30 

= 15 𝒙 + 30

= 15 (𝒙 + 2)



= 2 (-8𝒙) + 2 (-3) + 18 𝒙
= -16 𝒙 + -6 + 18 𝒙
= -16 𝒙 + 18 𝒙 + -6 

= 2 𝒙 + -6

= 2 (𝒙 – 3)

= 
𝟏

𝟔
 (𝒙) + 

𝟑

𝟒
 (

𝟏

𝟐
 𝒙) + 

𝟑

𝟒
 (-4)

 

= 
𝟏

𝟔
 𝒙 + 

𝟑

𝟖
 𝒙 + -3

 

= 
𝟖

𝟒𝟖
 𝒙 + 

𝟏𝟖

𝟒𝟖
 𝒙 + -3 

= 
𝟐𝟔

𝟒𝟖
 𝒙 + -3 

= 
𝟏𝟑

𝟐𝟒
𝒙 – 3

= 
𝟐

𝟑
 (6𝒙) -

𝟐

𝟑
 (

𝟏

𝟔
) + 3𝒙 

= 4𝒙 -
𝟐

𝟏𝟖
 + 3𝒙 

= 4𝒙 -
𝟏

𝟗
 + 3𝒙 

= 4𝒙 + 3𝒙 -
𝟏

𝟗
 

= 7𝒙 -
𝟏

𝟗
 



= 
𝟐

𝟓
 (10𝒙) + 

𝟐

𝟓
 (

𝟑

𝟒
) – 2𝒙

 

= 4𝒙 + 
𝟔

𝟐𝟎
 – 2𝒙 

= 4𝒙 + 
𝟑

𝟏𝟎
 – 2𝒙 

= 4𝒙 – 2𝒙 + 
𝟑

𝟏𝟎
 

= 2𝒙 + 
𝟑

𝟏𝟎

= 
𝟑

𝟒
 (24𝒙 + 28) + (-4𝒙 + 1)

 

= 
𝟑

𝟒
 (24𝒙) + 

𝟑

𝟒
 (28) + -4𝒙 + 1

 
= 18𝒙 + 21 + -4𝒙 + 1 

= 18𝒙 + -4𝒙 + 21 + 1 

= 14𝒙 + 22

= 2 (7𝒙 + 11)

= 
𝟓

𝟖
 𝒙 + 

𝟏

𝟐
 (

𝟏

𝟒
 𝒙) + 

𝟏

𝟐
 (10)

 

= 
𝟓

𝟖
 𝒙 + 

𝟏

𝟖
 𝒙 + 5 

= 
𝟔

𝟖
 𝒙 + 5 

= 
𝟑

𝟒
𝒙 + 5



5 x = 15

X = 3
16 = 4 x

X = 4

-24 = 6 x
X = − 4

− 3x = -24

X = 8
- 6x = 24
X = − 4

9 = 3x

X = 3

15 = 2x

X = 7.5
5 x = 10.5

X = 2.1
1.3 x = 3.9

X = 3



+ 𝟑 + 𝟑

 −𝟑 x < 𝟏𝟓

X < − 5 

−𝟖 − 𝟖

 −𝟏𝟐 ≤ 𝟒𝒙

− 3 ≤ x 
 

X ≥ − 3 



+ 𝟏𝟏. 𝟑 + 𝟏𝟏. 𝟑

 𝟔. 𝟓 𝒙 ≤ 𝟏𝟗. 𝟓

𝒙 ≤ 3 
 

 −𝟐. 𝟒𝟓 x > −𝟗. 𝟖

X > 𝟒

 −𝟑. 𝟐 − 𝟑. 𝟐



+ 
𝟏

𝟒
 + 

𝟏

𝟒
 

𝟏

𝟐
 x >

𝟕

𝟖
 

X > 1 
𝟑

𝟒
 

−
𝟏

𝟒
      −

𝟏

𝟒
      

𝒙

𝟏𝟎
  ≥  −

𝟏

𝟐𝟎
 

X  ≥ −
𝟏

𝟐



= – y + 9z + (– 16y) + (– 25z) + 4

= – y + (– 16y) + 9z + (– 25z) + 4

= (– 1 + – 16)y + (9 + – 25)z + 4

= – 17y + –16z + 4

= 8 z + 𝒙 + (– 5) + (– 9z) + 2

= 8 z + (– 9z) + 𝒙 + (– 5) + 2

= (8 + – 9)z + 𝒙 + (– 5 + 2)

= – z + 𝒙 – 3

= 5 c + (– 3d) + (– 12c) + d – 6

= 5 c + (– 12 c) + (– 3d) + d – 6

= (5 + – 12)c + (– 3 + 1)d – 6

= – 7 c + – 2 d – 6

= -
𝟑

𝟒
 𝒙 + (-

𝟏

𝟑
) + 

𝟕

𝟖
 𝒙 + (-

𝟏

𝟐
) 

= -
𝟑

𝟒
 𝒙 + 

𝟕

𝟖
 𝒙 + (-

𝟏

𝟑
) + (-

𝟏

𝟐
)

= (-
𝟑

𝟒
 + 

𝟕

𝟖
) 𝒙 + (-

𝟏

𝟑
 -

𝟏

𝟐
)

= 
𝟏

𝟖
𝒙 –

𝟓

𝟔
 

= 
𝟏

𝟒
 + 

𝟗

𝟏𝟎
 y + (-

𝟑

𝟓
 y) + 

𝟕

𝟖

= 
𝟗

𝟏𝟎
 y + (-

𝟑

𝟓
 y) + 

𝟏

𝟒
 + 

𝟕

𝟖

= (
𝟗

𝟏𝟎
 + -

𝟑

𝟓
) y + (

𝟏

𝟒
 + 

𝟕

𝟖
)

= 
𝟑

𝟏𝟎
y + 1 

𝟏

𝟖
 

= -
𝟏

𝟐
 a + 

𝟐

𝟓
 + 

𝟓

𝟔
 a + (-

𝟏

𝟏𝟎
)

= -
𝟏

𝟐
 a + 

𝟓

𝟔
 a + 

𝟐

𝟓
 + (-

𝟏

𝟏𝟎
)

= (-
𝟏

𝟐
 + 

𝟓

𝟔
) a + (

𝟐

𝟓
 + -

𝟏

𝟏𝟎
)

= 
𝟏

𝟑
a + 

𝟑

𝟏𝟎
 



= (8𝒙 + 9) + (- 6𝒙 + - 2)

= (8𝒙 + - 6𝒙) + (9 + - 2)

= (8 + - 6) 𝒙 + (9 + - 2)

= 2 𝒙 + 7

= (5𝒙 + 4) + (- 8𝒙 + - 2)

= (5𝒙 + - 8𝒙) + (4 + - 2)

= (5 + - 8) 𝒙 + (4 + - 2)

= - 3 𝒙 + 2

= (- 7𝒙 + 1) + (4𝒙 + - 5)

= (- 7 𝒙 + 4𝒙) + (1 + - 5)

= (- 7 + 4) 𝒙 + (1 + - 5)

= - 3 𝒙 – 4

= (- 3𝒙 + - 9) + (4𝒙 + 8)

= (- 3 𝒙 + 4𝒙) + (- 9 + 8)

= (- 3 + 4) 𝒙 + (- 9 + 8)

= 𝒙 – 1

= (- 5𝒙 + 4) + (- 9𝒙 + - 3)

= (- 5𝒙 + - 9𝒙) + (4 + - 3)

= (- 5 + - 9) 𝒙 + (4 + - 3)

= - 14 𝒙 + 1

= (- 2𝒙 + 10) + (- 8𝒙 + - 1)

= (- 2𝒙 + - 8𝒙) + (10 + - 1)

= (- 2 + - 8) 𝒙 + (10 + - 1)

= - 10 𝒙 + 9



= 
𝟏

𝟒
 𝒙 + (– 3) + 

𝟑

𝟏𝟔
 𝒙 + 5

= 
𝟏

𝟒
 𝒙 + 

𝟑

𝟏𝟔
 𝒙 + (– 3) + 5

= (
𝟏

𝟒
 + 

𝟑

𝟏𝟔
) 𝒙 + (– 3 + 5)

= (
𝟒

𝟏𝟔
 + 

𝟑

𝟏𝟔
) 𝒙 + (2)

= 
𝟕

𝟏𝟔
𝒙 + 2

= 
𝟏

𝟐
 𝒙 + (– 3) + 

𝟏

𝟔
 𝒙 + 1

= 
𝟏

𝟐
 𝒙 + 

𝟏

𝟔
 𝒙 + (– 3) + 1

= (
𝟏

𝟐
 + 

𝟏

𝟔
) 𝒙 + (– 3 + 1)

= (
𝟑

𝟔
 + 

𝟏

𝟔
) 𝒙 + (- 2)

= 
𝟐

𝟑
𝒙 – 2

= 4𝒙 + 
𝟑

𝟒
 + – 3𝒙 + -

𝟓

𝟏𝟐

= 4𝒙 + – 3𝒙 + 
𝟑

𝟒
 + -

𝟓

𝟏𝟐

= (4 + – 3)𝒙 + (
𝟑

𝟒
 + -

𝟓

𝟏𝟐
)

= 𝒙 + (
𝟗

𝟏𝟐
 + -

𝟓

𝟏𝟐
)

= 𝒙 + 
𝟏

𝟑



= – 9𝒙 + (–
𝟒

𝟓
) + (2𝒙 + 

𝟐

𝟑
)

= – 9𝒙 + 2𝒙 + (–
𝟒

𝟓
) + 

𝟐

𝟑

= (– 9 + 2)𝒙 + (–
𝟒

𝟓
 + 

𝟐

𝟑
)

= – 7𝒙 + (–
𝟏𝟐

𝟏𝟓
 + 

𝟏𝟎

𝟏𝟓
)

= – 7𝒙 –
𝟐

𝟏𝟓

= 
𝟏

𝟑
𝒙 + (- 3) + (-

𝟑

𝟒
𝒙 + - 5)

= 
𝟏

𝟑
𝒙 + -

𝟑

𝟒
𝒙 + (- 3) + - 5

= (
𝟏

𝟑
 + -

𝟑

𝟒
)𝒙 + (- 3 + - 5)

= (
𝟒

𝟏𝟐
 + -

𝟗

𝟏𝟐
)𝒙 + (- 3 + - 5)

= -
𝟓

𝟏𝟐
𝒙 – 8

= – 5𝒙 + (–
𝟐

𝟑
) + – 4𝒙 + (–

𝟏

𝟗
)

= – 5𝒙 + – 4𝒙 + (–
𝟐

𝟑
) + (–

𝟏

𝟗
)

= (– 5 + – 4)𝒙 + (–
𝟐

𝟑
 + –

𝟏

𝟗
)

= – 9𝒙 + (–
𝟔

𝟗
 + –

𝟏

𝟗
)

= – 9𝒙 –
𝟕

𝟗



5 𝒙 = 5 • 𝒙 

35 = 5 • 7

Common Factors: 5
Greatest Common Factor: 5
5𝒙 + 35 = 5 (𝒙) + 5 (7)

               = 5 (𝒙 + 7)

8 𝒙 = 2 • 2 • 2 • 𝒙
14 = 2 • 7

Common Factors: 2
Greatest Common Factor: 2
8𝒙 – 14 = 2 (4𝒙) - 2 (7)

               = 2 (4𝒙 - 7)

3 𝒙 = 3 • 𝒙
11 y = 11 • y

There are no Common Factors.
3𝒙 + 11y can not be factored.



32 𝒙 = 2 • 2 • 2 • 2 • 2 • 𝒙 

15 = 3 • 5

There are no Common 

Factors.
32𝒙 – 15 can not be factored.

72 𝒙 = 2 • 2 • 2 • 3 • 3 • 𝒙
18 𝒙 y = 2 • 3 • 3 • 𝒙 • y

Common Factors: 2 • 3 • 3 • 𝒙
Greatest Common Factor: 18 𝒙
72𝒙 – 18𝒙y = 18 𝒙 (4) - 18 𝒙 (y)

                     = 18 𝒙 (4 - y)

45 𝒙 y = 3 • 3 • 5 • 𝒙 • y

81 y = 3 • 3 • 3 • 3 • y

Common Factors: 3 • 3 • y
Greatest Common Factor: 9 y
45𝒙y – 81y = 9 y (5𝒙) - 9 y (9)

                     = 9 y (5𝒙 - 9)



25 𝒙 = 5 • 5 • 𝒙 

14 y = 2 • 7 • y 

There are no Common Factors.
25𝒙 + 14y can not be factored.

𝟏

𝟑
 𝒙 = 

𝟏

𝟑
 • 𝒙

𝟏

𝟑
 = 

𝟏

𝟑
 

Common Factors: 
𝟏

𝟑
 

Greatest Common Factor: 
𝟏

𝟑
 

𝟏

𝟑
 𝒙 –

𝟏

𝟑
 = 

𝟏

𝟑
 (𝒙) -

𝟏

𝟑
 (1)

             = 
𝟏

𝟑
 (𝒙 - 1)

𝟏

𝟐
 𝒙 = 

𝟏

2
 • 𝒙

𝟏

𝟐
 = 

𝟏

2
 

Common Factors: 
𝟏

2
 

Greatest Common Factor: 
𝟏

2
 

𝟏

2
 𝒙 + 

𝟏

2
 = 

𝟏

2
 (𝒙) + 

𝟏

2
 (1)

             = 
𝟏

2
 (𝒙 + 1)



= 2 (-3𝒙) + 2 (5)

= - 6𝒙 + 10

= 6 (-4𝒙) + 6 (3y)

= - 24𝒙 + 18y
= 5 (3y) - 5 (2z)

= 15y – 10z

= 4 (-2𝒙) - 4 (7)

= -8𝒙 - 28
= -7 (𝒙) - -7 (2)

= -7𝒙 + 14

= -3 (8𝒙) - 3 (-4)

= -24𝒙 + 12



6 + y = − 8 Write the equation.

− 6       = − 6 Subtract 6 from each side.

y = − 14  Simplify.

Check:

    6 + y = − 8 Write the equation.

6 + − 14 ≟ − 8 Replace y with - 14.

 − 8 = − 8 

This sentence is true.

The solution is − 14.

c = 16 P  = 6 z  = 20



c – 5.3 = - 6.4 Write the equation.

   + 5.3 = + 5.3 Add 5.3 to each side.

c = − 1.1  Simplify.

Check:

     c – 5.3 = − 6.4 Write the equation.

-1.1 – 5.3 ≟ − 6.4 Replace c with -1.1

 − 6.4 = − 6.4 

This sentence is true.

The solution is – 1.1

W  = 
𝟏

2
n  = 1.5



𝒅

− 𝟗
 = - 6  Write the equation.

𝒅

− 𝟗
 (- 9) = - 6 (- 9) Multiply each side by - 9.

d = 54  Simplify.

Check:

𝒅

− 𝟗
 = - 6  Write the original equation.

𝟓𝟒

− 𝟗
 ≟ - 6  Replace d with 54. 

- 6 = - 6 

This is a true sentence.

The solution is 54.

z  = −120
x  = −120



- 6 =
𝟑

𝟓
 y  Write the equation.

- 6 (
𝟓

𝟑
) =

𝟑

𝟓
 y (

𝟓

𝟑
) Multiply each side by 

𝟑

𝟓
.

- 10 = y  Simplify.

Check:

- 6 =
𝟑

𝟓
 y  Write the original equation.

- 6 ≟
𝟑

𝟓
 (-10)  Replace y with - 10. 

- 6 = - 6 

This is a true sentence.

The solution is - 10.

b  =  −30 n  =  − 𝟑. 𝟓



Let p represent the number of people.

29.50 p + 15 = 133

               - 15   -15

29.50 p         = 118

           p         = 
𝟏𝟏𝟖

𝟐𝟗.𝟓

p         = 4 people

6.95 + 8x = 24.9

 - 6.95          -6.95

8x           = 17.95

           x         = 
𝟏𝟕.𝟗𝟓

𝟖
 

x         = 4.24 $

1.50  + 0.60 x = 13.50

- 1.50                 -1.50

0.60 x = 12

           x         = 
𝟏𝟐

𝟎.𝟔𝟎

x         = 20 miles

0.65x  + 4.99= 6.94

            - 4.99    -4.99

0.65 x = 1.95

           x         = 
𝟏.𝟗𝟓

𝟎.𝟔𝟓

x         = 3 pounds



100
𝟏

5
 − 10

4

5
 x = 57

x = 
216

54
x         = 4 min 

48 −  1.5 x = 36

− 48   − 48

− 1.5x = − 12

           x         = 
−𝟏𝟐

−𝟏.𝟓
 x         = 8 hours

2x −4  = 24.50

+ 4   + 4

𝟐𝒙 = 𝟐𝟖. 𝟓𝟎
x         = 14.25 $

42 − 14x = 28

−42  −42
𝟏𝟒𝒙 = − 14                    x         = 1 min



6( 1
𝟏

4
+ 𝑥 ) = 10

5

4
 + x = 

10

6

X = 
5

12

3( 2
𝟏

4
+ 𝑥 ) = 12

3

4
9

4
 + x = 

51

4
X =2 cups

8(𝑥 + 12) = 168
X + 12 = 21
X =9 apples

7(𝑝 + 11) = 182
p + 11 = 26
p =15 pencils



3(𝑥 − 8) = 21
X − 8 = 7
X =15 balloons

4(𝑥 − 12) = 24
X − 12 = 6
X =18 $

6(𝑥 − 0.55) = 8.7
X − 0.55 = 1.45
X =2 $

5(𝑝 − 1.50) = 48.75
p − 1.50 = 9.75
p = 11.25 $



X > 𝟐 -5 > x or x <-5

X ≥ 𝟔 -7 ≥ x   or     x ≥ -7 

X > −𝟕 X < −𝟏𝟎



   2.6 ≥ X    or   X ≥ 2.6≤3    X ≥ 3.25

X −3 ≤  −8    X ≥ − 5    11 ≥ X    or   X ≥ 11



Part 2
Free Response Questions

(4 questions, 5-10 marks each, Paper-Based)



X < 𝟒 5 ≥ x      or  x ≥ 5 

-2 ≥ x      or  x  ≤ - 2  8 ≥ x     or    x ≥ 8    



X > −𝟒 X ≥ 𝟏𝟐

X < −𝟖 X > 𝟏𝟓



X > −𝟏𝟏

X ≤ 𝟗 -7.5 > X    or    X < -7.5

4  ≥ 𝑿     or   X ≤ 4



X ≥ 𝟑 X > −𝟏𝟔

X ≥ 𝟏𝟓 X < 𝟏𝟐



6x ≥ 𝟏𝟔𝟖
X ≥ 28

Hermes needs to babysit 28 or more 

hours

2.50x  ≤ 𝟐𝟎
X ≤ 8

Becky can afford 8 fish at most with 

no money left over

3
𝟏

4
 x  ≤ 𝟏𝟑

X ≤ 4

Sadie can make at most 4 batches

1.5x  < 𝟓𝟏
X < 34
Trin needs more than 34 bags of soil.



𝒙

𝟏.𝟐𝟓
   ≥  𝟐𝟒

X ≥  30

Teacher needs at least 30 yards of tulle.

𝒙

𝟐𝟒.𝟓
   ≥  𝟖

X ≥  196

Paul should buy 196 or more than 196 inches

𝒙

𝟒.𝟐𝟓
    ≤  𝟏𝟐

X  ≤  51

Chase should buy at most 51 inches of fabric

𝒙

𝟏𝟓.𝟓𝟎
   <  𝟔

X <  93
Mae will spend mor than $ 93



∟ 3

∟ F

∟ HFG

∟ GFH

∟ 1

∟ B

∟ ABC

∟ CBA

∟ 10 and ∟9

∟ 10 and ∟11
∟ 3 and ∟2

∟ 3 and ∟ 4



Vertical angles are equal

2x + 5 = 115

       -5     -5

2x = 110

X = 55

Vertical angles are equal

2x = 120

       

X = 60

5x + 95 = 180

       -95     -95

5x = 85

X = 17

3y + 120 = 180

       -120     -120

3y = 60

X = 20



90 ̊– 45 ̊ = 45 ̊ 90 ̊– 20 ̊ = 70 ̊ 90 ̊– 54 ̊ = 36 ̊

180 ̊– 128 ̊ = 52 ̊ 180 ̊– 160 ̊ = 20 ̊ 180 ̊– 150 ̊ = 130 ̊



4x + 22 = 90 
        -22    -22
4x = 68 
    
X = 17

X + 2 + 65 = 90         
X + 67 = 90 
      -67     -67 
    
X = 23

X – 7  + 43 = 90 
X + 36  = 90 
      -36     -36 
    
X = 54



7x + 110 = 180 
       -110      -110
7x = 70 
X = 10 

x + 4 +72 = 180 
X + 76  = 180 
      -76       -76
X = 104

2x + 86 = 180 
       -86       -86
2x = 94 
X = 47



61 + 78 + x = 180 

139 + x = 180
X = 41 ̊
Acute triangle 
Scalene triangle

38 + 104 + x = 180 

142 + x = 180
X = 38 ̊
Obtuse triangle 
isosceles triangle



95 ̊+ 95  ̊= 190  ̊

The sum of two angles is greater than 180  ̊

The sum of all angles of triangle must be 
equal 180  ̊

X + 90 + 50 = 180 

X + 140 = 180 
X = 40  ̊

Supplement = 180 – 40 
      = 140  ̊



THE END

Good Luck
بالنجاح والتوفيق 

لا تنسونا من دعائكم 
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